[ number of missing inner layers |

Entries 1744803 1e Entries 1744803
Mean 0.1627 E . Mean 1.287
Std Dev 0.5485 : Std Dev 2.001
B | . B |
-1=
Entries 1734624 107 : Entries 1734624
Mean 0.1635 F : Mean 1.216
N . Std Dev 1.961
................. A T A R S DU
10 E : Entries 1737912
E ' Mean 1.227
....... ] IR
10 E H
Mean E Mean 1.277
Std Dev 10_4 Std Dev 2.002
-5
107
o108k +
IS E
[ | e s 2 B B S
L :
................... i o o B
: EI:‘.""_.*:’:L—_*:+ T :
Yo EE— 0.

[ number of missing outer layers |

0 5 10 20 25 15 20 25
I_original_step. ar-phasel-newgeom
=== DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
mean hi{ == DQM_pixelCPETemplateCut hiSquarel5_step2_tthar- ﬂhasel-newgeom
= DOM _pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
= 20 Entries 1744803
n 105=— celtoiiiiti, . oho... o2 Mean 12.47
> 18 3 Std Dev 6.415
N o E H H
2 16 i 1734624
v 0%
14 F
B 1737912
12 103 12.69
E 6.492
10 . -
B Entries 1743236
102 { mean 12552
E Std Dev 6.413
10
1=
o + + o +.of +
= = E :
kS : S 12f--i
c LAE---eheeeesiees
: i :
0.95 G
=3 2 -1 0 1 2 3 0 5 10 15 20 25 30 35 40
track n track hits
Entries 133002 Entries 2199229
Mean 2.164 Mean 0.7861
Std Dev 6.079 Std Dev 2.94
. | I 10 B i = T 1
Entries 133002 Entries 2195442
Mean 2.164 Mean 0.787
Std Dev 6.079 Std Dev 3.138
: I : 1
Entries 133002 Entries 2196327
ean 2.164 Mean 0.7865
StéhDev 6.079 Std Dev 3.032
K :
Entries 133002 Entries 2205040
Mean 2.164 Mean 0.7869
Std D:cv 6.079 10—4 Std D:cv 2.987
--------- -5
L0
. I \ '910‘—}@, | L bl
= .
© .
ad B
1 3 e
0.95— i i v s 0.95— i i - 5
10 1 10 10 10 10 1 10 10 10
TP P track p_

o



	Contents
	Page 1


